Efficiency vs dr

0.5
0.45

efficiency vs AR
=}
D

©
O w
w

0.1~
0.05F
n 3 I
O 1.0 IO T T T T Y T T T T 0T
= —=— DQM_V0001_R000000001__Global__mkFitOLD__RECO
g —e— DQM_V0001_R000000001__Global__mkFit100__RECO
f-#{ —— DOM_v0001_R000000001__Global__mkFit100tobtec_ RECO
||||||I| |||E "E I |"‘ " NM"W | il
0.95 : ..!uil " ii |I|Uul| ||| IEEEIEY
107° 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
§ 0.1
0 0.09
=
o
z 0.08
£20.07
>
20.06
@
o
£ 0.05]
3]
0.04
0.03
0.02
0.0
e

Ratio
N

0.95

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

O J..\.ru‘ Y N
@ : ]
14 ++
1l -+ -+ -1 _‘P
- :
096730 40




	Contents
	Page 1


